SO FE

CBTS%F

i (HEBTA)

XBEIRTEIZ1ERR

= . EFEFB e \ BE
El HE 17 % HilRa=) DB/E%)JEE@ RS
e
1 | R |4598% +AE8miESS — 12120
S
o |« N2TEF (Fsh) 6/1~4 1220
NU— (Z%m) 6/2~4
=5 = R e VI RTFZREF (EM@™H) 6/2~4
S IRE L v NRIYV VBT (e 6/2~4
4 | B glE (L) 6/2~4
IDF (F8H) 6/3~4 FE=00%]
5| 8 12: 20
N DH
6 | W M 12 :20
7 | K | hEsSa -
8 | K |rax
_ |mEmEmE KER 12:55
O | & |Fm40% - FEASHEE ABEERIED) v o)
10| =
111 8
12 | B [esszertw TR ©
13| w ©
SFHMEER (HERE) O
14 | K 45D (REEB|AS 12:20
1)
)
16 | & |s10BsEsESEE IDMFLEEIEBAS (B 12:20
17| =
18| H v
BICZDDH
191 A 12:20
IN> D>
20| w v 12 :20
21 | K [xEeeEs 6B
22 | K |mr=asiass
23 | &
24 | +
SRR D
25| 8 (HBgD)
26 | B [355%6BR+ATIE ©
o7 | w ©
28 | K 0]
29 | & SEES (7848FT) x
30| & X
]
==

e T




